| MaTH 221

Quiz 1 |

Show your work.
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Problem 1 Suppose A = and B= |0 0 |.
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Problem 2 Solve z1+za+z34+z4 =1, 3z1+6xs+4x3+Tzs = 5 and 2z0+ 2z

3+2z4 = 1 simultaneously.
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You are given that rref [ 3 6 4 7|5 ] = [ 0 1 0 7/4)| 3/4 } . (you do not need to do
0 2 2 1|1 0 01 -5/4|-1/4
any Gaussian elimination, I did it for

you by telling you this!)
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Problem 3 Let A = { 3 3 4 ] . Use row operations on A to calculate rref(A). Show steps and
2 2 3

denote row-operations explicitly with the notation we used in lecture.
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